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Important Instructions

Candidates should read the undermen-
tioned instructions carefully. Violation
of any of the following instructions may
entail penalty in the form of deduction of
marks, cancellation of candidature,
debarment from further Examination of
the Commission etc.
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(a) Write your Registration Number and other
details only in the space provided in the
Question-Cum-Answer (QCA) Booklet for
candidates.

(b) Do not_disclose your identity in any
manner such as, by writing your Name,
Registration number, Mobile number,
Address, Question-Cum-Answer (QCA)
Booklet No. etc. elsewhere in the Booklet
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Do not write in the QCA Booklet anything
other than the actual answer such as couplet,
obscene, abusive expression etc., nor put any
sign/mark having no relevance to the answer.

THEF F TEA/ATTd = 7 F:2 AT qrdn/
grfT 9 T A 7 T

Do not make any direct/indirect appeal/threat
to the examiner.
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Do not write answers in bad/illegible
handwriting. Such answers may not be
evaluated.
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Write answers in ink only. Do not use pencil
for writing the answers. However, pencil may
be used for drawing diagrams, sketches, etc.
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Do not write answers in medium other than the
authorized medium in the Admission
Certificate. Do not use mixed language either
i.e. authorize and unauthorized media together
for writing answers.
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Write answer at the specific space (right below
the question) only. Answers written elsewhere
at unspecified places in the booklet shall not be
evaluated.
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QUESTION PAPER SPECIFIC INSTRUCTIONS

Please read each of the following instructions carefully before attempting questions.
There are TWENTY questions printed both in HINDI and in ENGLISH.

All questions are compulsory.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be stated
clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No marks will be
given for answers written in a medium other than the authorized one.

Answers to Questions No. 1 to 10 should be in 150 words, whereas answers to Questions No. 11 to 20
should be in 250 words.

Keep the word limit indicated in the questions in mind.

Any page or portion of the page left blank in the Questions-cum-Answer Booklet must be clearly struck

off.
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Bringing higher judiciary under the ambit of RTI has its own merits and demerits. Discuss.
(Answer in 150 words) - oEE e 10
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Tribunals in India have not just replicated some of the problems that our judiciary suffers from | congidates
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Parliamentary prwllc_gcsfm__fmmﬂys used for the aims they were intended to serve. In this

context, discuss the need for codification of these pnwleges in lighf of recent developments
.._._._.--—"——
(Answer in 150 words)
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There is a point of view that the office of Governor has outlived its relevance and needs to be
abolished. Critically examine in the current context. (Answer in 150 words) = 10
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Is lateral entry in civil services the panacea to address the challenges, which hamper the effective

functioning%ﬁmmdia? Examine. (Answer in 150 words) 10
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Highlighting the grievances_of states towards Centrally Sponsored Schemes (CSS), explain how
the go\w sought to rationalise these schemes. (Answer in 150 words)
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The PM Jan Arogya Yojana (PMJAY) has begun well and holds a lot of promise, however it

needs to address muttiptechratlenges to become a success. Discuss. (Answer in 50 words) 10
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Highlighting its key features, examine the need for the passage of the Transgender Persons
(Protection of Rights) Bill by the Parliament at the earliest. (Answér in 150 words) 10
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With changing times India's engagement with its diaspora has also undergone a change. Explain
in the context of government policies on diaspora. (Answer in 150 words) - 10
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Despite its immense potential, the challenges associated with RCEP for India cannot be ignored.
Analyse. (Answer in 150 words) - - 10
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Decentralisation in India_has been fairly successful at the political level, however on the fiscal

and administrative fronts progress is marred by several bottlenecks. Comment. (Answer in 250
words) e 15
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TA-FTA FTA F TTAUTAT FT FATE Ioaad (547 797 2 o7 7t Fafaa =7 3 = s §
TE ) TEEe FfSr) AT &, T35 FF T GG a9 F 39T F A g A5 (39
250 o371 H F)

The provisions of the Anti-Defection Law have been repeatedly violated and are routinely

misinterpreted. Examine. Also, suggest measures to strengihen the Anti-Defection Law. (Answer
in 250 words) 15
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The amendment process for the Indian Constitution follows a middle path between rigidity and
flexibility. Comment in cmﬂive. (Answer in 250 words) 15
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Fae-Trsa faanet F Muem § adg duare i qen §=mr i swrEefiear #1 qeais
Fiform (397 250 9=a7 # F)

Assess the effectiveness of the institutional architecture of Indian federalism in settling inter-state
disputes. (Answer in 250 words) = 15
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The recent advances in technologies have the potential to make e-governance a very potent tool
for ushermg in an era of good governance. Discuss. (Answer i 250 words) B
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While Indians are donating to charitable causes more than ever, philanthropy in India is still at a

formative stage. In this context, highlight the significance of philanthropy and state the factors
holding back philanthropy in India. (Answerin 250 words) 15
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Highlight the challenges faced in implementation of healthcare schemes in India. Examine how

creation of a robust digital health ecosystem can prove to be a game changer in this regard.
(Answer in 250 words) 15
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wed F fore s A uF weraftE F w7 F wwed 2, adwe e s F awe = ui,
ST (I 250 9r=AT 7 F)
For India to emerge as a knowledge superpower, it is imperative to address the challenges of

access, equity, quality, affordability and accountability faced by the current education system.
Elaborate. (Answer in 250 words) 15
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19. STERTTAT TiTa ST 1 THTAT F arer fAfoer Freat it wg=m fifom arg &, srefaege § | T

g i w wfig &
grifer < gerg Fit wforar F wf¥ s F gfewr oz off warer =1fem) (392 250 9==1 ¥ 3) o
Identify different factors which have affected the Afghan peace process. Also, throw light on | cupgidates
India's approach towards peace and reconciliation process in ATghanistan. (Answer in 250 words) "!:“S“U'
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aa ¥ A0 376 757 i vd =9 41 F 49 g4y qgeaqt 8, Zeifh 3 2T dauy i
FqAT-oT FARat § 747 37 T7 aftv i F weq 2T F o0 & 1 At e az v #)
41 Fiform) (397 250 91=at # F)

Ties with both USA and Russia are important for India, however, both these relations have their

own sets_of challenges, and some of these are further accentuated by the Triction between these
two powers. Discuss. (Answer in 250 words)™————— === i 15
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